
Practice
Lesson 1

Introducing This Year’s Mathematics
 Use the table to make an organized list of all possible 
combinations of dimes, nickels, and pennies 
that make 28¢.

DIMES NICKELS PENNIES

2 1 3

2 0 8

1 3 3

1 2 8

1 1 13

1 0 18

0 5 3

0 4 8

0 3 13

0 2 18

0 1 23

0 0 28

 Which combination of coins is NOT 
worth 49¢?

A. 4 dimes, 1 nickel, 4 pennies
B. 3 dimes, 3 nickels, 4 pennies
C. 2 dimes, 5 nickels, 4 pennies
D. ! 1 dime, 4 nickels, 4 pennies

 Sandy has 2 quarters, 1 dime, and 
4 pennies. How much money does 
she have?

A. 39¢ C. 60¢
B. 59¢ D. ! 64¢

Order may vary.
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Practice
Lesson 2

 John leaves his house at 7:30 A.M. He arrives at school 
at 8:25 A.M. How long does it take John to get to 
school? Explain how you found your answer.

55 minutes; Possible explanation: I thought about a clock.

It is 30 minutes from 7:30 A.M. to 8:00 A.M. and 25 minutes

from 8:00 A.M. to 8:25 A.M. 30 minutes ! 25 minutes "

55 minutes

Investigating Cross Number Puzzles
Complete each Cross Number Puzzle by filling in 
numbers that make amounts on both sides of the 
thick line the same.
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Practice
Lesson 3

 Which expression does NOT equal 16?

A. 4 ! 4 B. ! 36 " 2 C. 9 # 7 D. 21 $ 5

Investigating Input-Output Tables
Complete the tables.

 
INPUT 6 10 4 8 12 20

Add 4 10 14 8 12 16 24

Multiply by 2 20 28 16 24 32 48

Subtract 8 12 20 8 16 24 40

MACHINE OUTPUT 12 20 8 16 24 40

 
INPUT 6 10 4 8 12 20

Divide by 2 3 5 2 4 6 10

Multiply by 4 12 20 8 16 24 40

MACHINE OUTPUT 12 20 8 16 24 40

 

INPUT 6 10 4 8 12

Add 5 11 15 9 13 17

Double 22 30 18 26 34

Subtract 10 12 20 8 16 24

MACHINE OUTPUT 12 20 8 16 24

MAKE YOUR OWN.
Many correct answers are possible for last column.
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Practice
Lesson 4

Connecting Input-Output 
Machines and Puzzles
The numbers in the puzzle on the right are all 
double the numbers on the left. Complete the 
pairs of Cross Number Puzzles. 

 
 

 
 

 Write the numbers in order from greatest to least. 
Explain how you decided how to order the numbers.

648,831   684,301   684,299

684,301; 684,299; 648,831. Possible explanation: I compared

the digits of the same place value beginning with the 

hundred thousands. All three numbers have 6 in the hundred 

thousands place, so I looked at the ten thousands place. 

648,831 is the least number. The other two numbers have the 

same digit in the ten thousands and thousands places. In the 

hundreds place, 2 is less than 3, so 684,299 is less than 684,301.
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Practice
Lesson 5

 The temperature was 97!F at 2:00 P.M. Then a 
thunderstorm rolled in and the temperature dropped 
16!F. After the storm, the temperature rose 8!F. What 
was the temperature then? Explain your answer.

89!F; Possible explanation: I drew a thermometer.

I started at 97!F, went down 16!F, and then up 8!F to 89!F.

Introducing Negative Outputs
Each of the tables was made using one of the rules 
below. For each table, write the letter of the rule that 
was used to create it. Then complete the table.

Rule A: Multiply the input by 3.   Rule B: Subtract 6 from the input.

 Rule C: Multiply the input by itself.

 Rule B

INPUT 7 15 50 6 5 4 0

OUTPUT 1 9 44 0 "1 "2 "6

 Rule C

INPUT 3 5 8 10 1 6 7

OUTPUT 9 25 64 100 1 36 49

 Rule A

INPUT 3 5 8 10 7 4 11

OUTPUT 9 15 24 30 21 12 33
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Practice
Lesson 6

Determining Rules Using Two Operations
Complete the tables. Some of the rules use 
two operations.

 
INPUT 3 9 2 10 5 7 0 6 8 11

OUTPUT 15 45 10 50 25 35 0 30 40 55

 
INPUT 18 9 14 11 29 129 100 114 99 155

OUTPUT 9 0 5 2 20 120 91 105 90 146

 
INPUT 6 10 4 8 5 12 3 11 7 9

OUTPUT 10 18 6 14 8 22 4 20 12 16

 
INPUT 4 7 3 9 0 11 8 10 12 6

OUTPUT 16 25 13 31 4 37 28 34 40 22

 Marti used a rule to make this list 
of numbers.

1, 3, 7, 13, 21, !

If she uses the same rule to 
continue the list, which number 
would come next?

A. 23 C. 33
B. ! 31 D. 37

 What is the value of c in the 
equation 63 ! c " 29?

A. ! 34

B. 44

C. 46

D. 92
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Practice
Lesson 7

Multiplying Cross Number Puzzles
Complete all the puzzles.

  

  

 Which number sentence is correct?

A. 2 ! 9 " 7
B. 2 ! 9 " 0
C. 2 ! 9 " 11
D. ! 2 ! 9 " !7

 Jacob left for school with 
4 boxes of pencils. Each box had 
12 pencils. At school, he gave 
6 pencils to each of his 4 friends. 
Which number sentence below 
can be used to find the remaining 
number of pencils?

A. (4 # 12) $ (6 # 4) " !

B. (4 $ 12) ! (6 $ 4) " !

C. (12 # 6) ! (6 # 4) " !

D. ! (4 # 12) ! (6 # 4) " !
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